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(CH 3) 3C-CI + 2H 2 o = (CH 3) 3C - 6H + H3o+(aq)+ cr(aq) " 
*U» t>V2 = 80 mL U ^ j Ci = 0,10 mol/L »j£ J2 jb,jj JAc-2 J J K - 2 Jjk-

t(s) 0 30 60 80 100 120 150 200 

a(S/m) 0 0,246 0,412 0,502 0,577 0,627 0,688 0,760 

. JeU&S f£û V_>a*. > J f\1 

. a(t) = 426. x(t) : Jcl&il x ̂ sîiil a ÂJ&jiil Â̂SUil SjUc J /i -2 
. X = f(t) ^Wi<ill ( W J JI j tJ-ojJl (Jcliiiî X jkâ Aia. /(_! 

t = 50 s L̂LaJÎI ^JG JcliSlt ÂAJS / ] . 3 
t = 200 S % U R ̂  JeliSÎI JA /O 

(HO+) = 35,0 . 10"3 S.m2/mol, X ( A") = 7,6 . 10"3 S.m2/moi ^ 
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^ élSiili dxjOj t1/2 - Î ^ J J ^ JÏI S J 1 ^ » ^ J V ' -2 

Ô Û J ^ J AÎI ^ ^ Sijjll (jjc (Jjiw U> ^jlc oUucVb -3 

£x sijilïĴ jllau» MeV-f 
. i ti • A v <•! '1( I T- t 

IS1JJJ! Ji j a U J l ! 

m p = 1,00728 u , m n = 1,00866 u , mx = 37.96011 u :C^»A\ 

7,66 MeV ^_>B ^ JSÎ i ^ j ! ÂilL 
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A .Ai. jlâ ^ilaîl j ' i t > jSlji] U J JL SAJ (2) jJl ̂  Âluali 

t B : Uc(t) JJi»ïl CJ!JJÙUÎ ĵ ltsli ^luïi J J L J J I ^ Jj.n^ft J J -2 

: jU3i J e J U I C V U -3 
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t(ms) R ! = R 2 = 5KQ :t5i»3 
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« «I . » « t ! ! 1 A + -t| ĴUAII <i ̂ 3 i uii ni! _JÙ\ 11 i i! i-rj - } 

t W J « >SJ» t> V = 250 mL ^ jte t>n = 2,5 . 10~3mol SÛU J^bJb-2 

îj jk-ali ^LaJl ^UajSl! ̂ Jâ3l JÀ U j t [NH 3 ] f / [NH4+]f -W" «.""̂  /J 
- 2 

(H30 + / H 2 0 ) , Kg = 10"14 » Pka(NH4 + /NH3 ) = 9,2 < M(NH3) = 17g . m o l _CJUM-»]! 
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z = - 4 ,91 2 + 5 (sin50) t + 3 j x = 5 (cos50) t 

..1 /. . 

z(x) jU**îl ÂîUx AS.jl /I -3 
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